
The RST coding tool 
(by Mick O’Donnell)

• Allows creation of RST analyses
• Steps:

– put the text to analyse in a plain text file on your 
computer

– load the text into the tool
– segment the text into units
– structure the text using RST relations
– save (and/or print) the RST analysis

• Download from: 
http://www.wagsoft.com/RSTTool/RSTTool345Install.exe

• Click on this file and the program will be installed…



Starting up the tool
• Go to where you have installed the program 

and click on the file: RSTTool.exe

• Now you can either choose a collection of 
rhetorical relations to load or a text…

• Let’s import a text 
for analysis…

• Segment it (by pressing
the sentences button) and
check if this is correct.
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Selecting a set of RST relations

• You must also select a set of RST 
relations to use

• Go to the Relations Window and click 
on Load

• Select ‘Classic’

• You can also
change the
relations here



Structurer Window: after segmentation 
and ready for RST analysis



RST Tool: building relations with 
a nucleus and satellites

• In the structurer window, select ‘Link’ from the 
left hand buttons;

• Then click on the satellite that you want to 
link, and...

• holding the mouse button down, move to the 
nucleus for that satellite and then release the 
mouse button;

• a menu will appear asking for a RST relation 
(if this menu is empty, you have not loaded a set of RST 
relations: go to the relations window)



2. Move the mouse 
over the segment that 
is to be the satellite (a 
box will appear around 
the text)

1. Select ‘Link’ to join segments

3. With the mouse button held down move the mouse to 
the nucleus and release the mouse

4. A menu 
will appear 
asking for an 
RST relation: 
pick one

5. The 
selected RST 
relation will 
appear in the 
diagram.



To make a ‘span’
• To group a collection of text segments 

together, so that you can build up the tree, 
select ‘Add Span’ from the left hand buttons 
and click on the nucleus that you want a 
span built over...

select ‘span’
click on nucleus



RST Tool: building multinuclear 
relations: step 1

• Select one of the segments 
(either the text of the numbers 
of a span) that you want to 
connect: a menu will appear 
asking which multinuclear 
relation you want.

• Select one, and this will be
added into the tree.

• Select ‘Add MultiNuc’ from the lefthand buttons



• a menu will appear: select MultiNuc

• your selected segment will
then be added to the tree

RST Tool: building multinuclear 
relations: step 2

• To link further segments to this segment, select  
‘Link’ from the lefthand buttons

• Click the mouse on the segment to be added and...
• holding the mouse button down, move the mouse to 

the numbers showing the span of the multinuclear 
relation



Finishing up...
When you have finished the structure...

You should:

• Save the analysis by clicking 
‘Save RST’

• Save the analysis in its graphical form for inclusion in your 
document or for printing. The best way to do this is by 
copying the thing to the clipboard for pasting into any 
document that you are working with. 



Result of doing the analysis

• For more information and documentation, see the website:
http://www.wagsoft.com/RSTTool/index.html



Result of saving RST: 
an ‘XML’ file

<rst>
<header>
<relations file="D:/MorePrograms/RSTTool25/Relation-

Sets/ClassicMT.rel"></relations>
</header>
<body>
<segment id=1 parent=2 relname="elaboration">Thank you for completing 

our smoking questionnaire the other day. </segment>
<segment id=2 parent=8 relname="span"> It is

clear that you really enjoy smoking,</segment>
<segment id=3 parent=8 relname="circumstance"> and don't really see in 

particularly
good reason to stop,</segment>

<segment id=4 parent=8 relname="circumstance"> particularly because 
you don't feel that it has had
any serious effect on your health over a number of years,</segment>

<segment id=5 parent=10 relname="span"> apart from some
trouble with your circulation.</segment>
<group id=8 type="span" parent=9 relname="span">
<group id=9 type="span" parent=5 relname="concession">
<group id=10 type="span">

</body>
</rst>


